HW 14b, Key

Teamwork and Effort Study:  2-way ANOVA outcomes

Note:  In practice, we would write all of the following sentences in a single paragraph, but this key presents bullet points to make the pattern easier to see.  All 2-way write-ups can follow the same simple pattern:

1.  Statement about how hypotheses overall.

2.  Explain outcome for hypothesis #1 – a possible main effect (e.g., for number of teammates)

3.  Explain outcome for hypothesis #2 – another possible main effect (e.g., for peer evaluations)

4.  Explain outcome for hypothesis #3 – a possible interaction 

5.  Explain practical significance for any significant effects.

Outcome #1
· Some of the hypotheses were supported.  

· There was a main effect for teammates.  Participants with two teammates worked harder (M =  12.70) than those with four teammates (M =  6.8), who in turn worked harder than those with 8 teammates (M =  3.8), F(2,24) = 34.751, p≤.05. 

· However, there was no main effect for peer evaluations.  Those who expected peer evaluations (M =  8.33) did not differ significantly from those who did not expect evaluations (M =  7.20), F(1,24) = 1.633, n.s.

· The two variables did not interact, F(2,24) = .684, n.s..  

· Number of teammates accounted for a large amount of variance in effort, η2 =  .7202. 

Outcome #2
…..Presented in class

Outcome #3
· Some of the hypotheses were supported. 

· There was no main effect for number of teammates.  Participants with two teammates (M =  7.10), four teammates (M =  6.70, or eight teammates (M =  7.60) did not differ significantly in effort, F(2,24) =  .359, n.s. 

· Participants expecting a peer evaluation put forth greater effort (M =  10.13) than those not expecting an evaluation (M =  4.13), F(1,24) =  47.647, p≤ .05.  

· Finally, there was a significant interaction, F(2,24) = 16.535, p≤ .05.  With peer evaluations, an increase in teammates increases effort.  Without peer evaluations, an increase in teammates decreases effort. 

· Peer evaluation accounts for the most variance in effort, η2 =  .4519, although the interaction also accounted for a large amount of variance, η2 =  .3137. 

